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(A) What is the concentration of hydronium ion in an aqueous  solution whose pH 
is 10.50?  (B) What is the hydroxide ion concentration?  (C) What molar concentration 
of sodium hydroxide solution would provide this pH?

OR

Sodium hydroxide (NaOH) is a STRONG BASE
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What is the pH of a sodium hydroxide solution made from dissolving 2.50 g of 
sodium hydroxide in enough water to make 500.0 mL of solution?

Find molarity of the NaOH

Sodium hydroxide is a strong base, so we expect it to completely ionize.  The 
hydroxide concentration equals the NaOH concentration.

OR, use 


